1.15 Limits at Infinity and Horizontal Asymptotes

Calculus Name:
\ Identify the horizontal asymptotes of each function.
(x+6)(4x—-1) (x=5)(2—-2x)
1. f(x) =———-++ 2. X)) =———
f( ) (2x-7)2 f( ) (4x+1)2
16x2+3x V7x8-2x2+2x
3. X)) =— 4. f(x) = ————
fl) =22 fe) =T
\ Evaluate each limit.
5 lim 2x*-3x3+1 6. lim 37* =2 7 lim x3-2x2+10 8. lim x sinx
T x—>o00 x5—x%+4x3 xX—=eo " x—00 5x3-x6+3x xX—=eo
) 4x+1x? i . 2x*-3x%-6 . . x+4mx?
9. lim COS( ) 10. ,ll_r,ﬂlo cos(x) 11. lim ———— 12. lim sin (—)
X—00 x3 x—o00 3x*+6x+11 x—00 10—16x2
. 6x2-9x%*41 . 1 . 6 cosx
13, lim XX =X = 14. lim (4 cos—) 15. lim & 16. lim ( )
x—00 2x%2+x+600 x—00 x x—00 2% x—o0 \ X
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